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Complete the following WITHOUT a calculator.

1. Use the Remainder Theorem to find the remainder when the polynemial
16x° ~ 32x* — 81X + 162 is divided by x—2 .Statewhether the binomial is
a factor of the polynomial. Explain your answer.
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At most how many real solutions would 16x5 — 32x% — 81X + 162 have? 5
At least how many real solutions would 16x° — 32x? — 81X + 162 have? /

The left and right hand behavior of 16x° — 32x* — §1X - 162 is © ) /2 12
2. Use Synthetic Division 1o divide 8x* — 20x3% — 14x%2 4+ 8x + 1 by x + 1,
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3. Use Long Division to find the other factor of x> + 3x% — 8x — 24if x% — 8 is a factor.
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4. Solve 3x* - 24x = —30by Completing the Square.
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Given the following roots of f{x), build the factors of f(x), then use the factors to
build a polynemial f(x) of the least degree.

Roots x=5; x= -3, x=2
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Polynomial f(x) = X° - /i x 430
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Given the following roots of f(x), build the factors of f(x), then use the factors to
build & polynomial f(x) of the least degree.
Roots x = 5i; X = —/3
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Find the discriminant of 2x% — 4x + 9 = 0 and describe the nature of the roots.
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Solve ~3x* + 4 =0 b\; using the Quadratic Formula.
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Find the number of possible negative real zeros for x* — 5x°% + 232 — 12x + 6
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Complete the following. You MAY USE A calculator.

1. Approximate the real zeros of f(x) =
Sclution X < -0 ¢, x =/ 0 x=l»
Sketch the graph.
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2. Between what two integers are the zeros of the function 2x* + 3x2
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Sketch the graph.
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3. Determme the ratzona! roots of 2x° +3x2 — 17x + 12 =
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8. Write a polynomial function with integral coefficients to model the set of
data below
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